1 e

1
(1)

3 =10F:

+(=6)—(=7-9

(2) (—20) +%>< (_T)

1

(3) 4XT7+4(—=3)*

—4+5—13+7

1.2—3.442.5

15X (—2) X3

16+ (—20) X5

5X (—%) = (—10)

3X (=7)+(=5)

9x (6—13)

6—(—3)+(—15)
Bkl

—0.7+(—2.3) +5

TX(—3) X (—4)

(—20) = (=6) X (=3)

(—=15) +5-+9

6—(—18) =3

{7—(18+5) }+4

—2—(—12) +4—(—6)

3.1—(—14)—17

(—6) X (—4) X (—%)

(—56) ~7+(—2)

o[-+

11—3X (—4)*

8+ (5°—7) = (—3)




[ 2 =23k

(1) (52-6)— (32—2) () 6x+<—%) (3) 2(x-+6)+5(32—4)
4) z=—20k &, ROXDEERD L,

@ 3r—1 ®) —% @ 3(22—5)—4(x+1)
4 (1) 3a+1—4a—38 (2) 6+ (5x—7) (3)  (9x+4)+(2x—1)

(4) Txr—(—5x+2) (5) (8a+5)—(9a—4) (6) (bx—4)—(—3z+6)
5 (1) (—7a)x3 (2) (—22) X (—11) (3) 15m><(—%)

(4) (—56z) = (—8) (5) (—24a)+% (6) (—30x)+(—%)
6 (1) —6x+td(20+3) 2) 2(50—4) +3(22+1) (3) 5(8249) —4(92+6)

2

W Za—2(a+3) (5) LF343L25

Sx—2  2x+5
7

7 xz—%®k§,m®ﬁ®ﬁ%*bio

(1) 16x+5 (2) —

8 Jw
w

—502z+1) — (6—2x)



R E A

(1) woitsiz e L,

(1) —4+16-19—11 0 —2—(-5)+(—F) (3) —2.7—6.4445—0.9
W 2x(-3)+(—5) 5) (—16)+15+3 6 04x (=) + ()
(7)) (—4)">(—=0.5) (8) —11+(—=5) x (=39 (9) 5°—(—6)x2+4—7

(2] ko zE X,

(1) Sm—2—Tm-+8 2) 54— (3a—7) (3) (22—9) — (—52+3)
(4) (—2b) X (=17) (5) 8x+% (6) 213:%(—%)
(7) —%(&—24) (8) 3(204+5)—2(4—2) (9) 3“;5 (a “54)

(3) koROMEFRD &

(1) x=—5n& %, —2(x—5)+302x—6) O (2) a=% DL E, 8d¢—6a+1 D



fREEE B

(1] kot ze X,

(1) 2—{3— (1)) (2) 5.4—7.5+4.3—3.2 (3) o —to
(4) 35 (—18) X (—2)? 6 (—2)x(—2)+(—5) o () +(-3)
(1) 45+{2+ (—11)}+5 (8) —5 X6 (—3)—21x9-7 (9) {7—(—32)}+(—%)2
(2] woitsz e Lo

(1) (8v—2)— (4—5z) 2) (240+3)— (—0.72+6) (3) +atsa—a

(4) (-%x)X(—IO) (5) 14y+(—%) (6) Sra=(—0.3)

(7) %(x—ﬁ)—%(x—él) (8) 84_6”57 () xerl+x§1 335;—1

(3) koXOfliEFKD ko

(1) z=—50rs, —60ff (2 a=—3 oLrs, a2+170@1[g



KR E R

) koatsz X,

(1) —2—{—3—(—4+5)) (2) —12={9— (8+2) =2} x6

(3) (—=1)'—(—=2)*—(—3)* (KBRS BB E) (4) (—%)2+(—1—14)+% (BEOKLFAME)
(5) %+0.8—(—%)2 w6 2—2—93><{%+0.15—%><(—0.52>} CRIRHE A D)
D x5+ (3] ® Txatoat I (RARER
(9) (—%)2—(%+1>+373+(—%>+0.2 CEIR (—1.2)2x(%—%)2#71—2—0.4%1.42 (RBAE)
) (%a—%)X(—IS) ey 1y AT 2(5"3_ L) (AAHE)
oy LZ4EEl Sodr w1 (r—15)+ (2 I

P A=3x+2, B=—2r—1, C=2—5,¥5L %, 3A—(2B—C) Ofiz, xxHnTEL,



E) womvicsz k.

(1) ko, A, B, C, D, E, F, G, H® 8 AO&EFED 20 il oM ET A b0 Eaw, HEEADEK
FHRIEL LT, FNIYEEDIEBVHEFIEO, KOS EIEOBTELZLDTH S,

GRS A B C D E F G H
St L o7 (1) 0 +2 | =3 | +5| 3 | =5 | +2 | —6

O wmERERELDOLIVERD X

@ SADVHEPLDBETHLEE, EECOEEERD X,

(2) WORDEHIZ, vy FHEEZIRXTVL, WRLZBANZEZ LW DET 5, (AFEH)
1%H 2%H 3%H

O 10FHTHEbNL~ Yy FHEORKZ KD L,

@ nFHTHELWLY Y FROKREE, n2ZH7oRkd i zTRE,

n nxHRBET D, 3%&n 72 8% 3" L Fd, 15[]2‘_(1’ 31:3’ gl g ] g ] g1zl [ guz2 | gizs
3=3x3, F=3X3X3, - ThHb, HOEKD LOEIZITINLENS 34| 2 | e 31412
WL OP BN 123 X725 D, FOBIIZZD L% 5 TH 28 ) EFEMrN TV 5, € ¥::)

(1) TOBEDOEDH) LRI VEZRD X

(2) ToOBROEEZLHPOMMICELTHEONLIBREEZ . FIZIX, 1FEHL2S 2FH T TRLZ2EUZ 3+4=7

ThY, 1FHIL3IFHETRLAEL3+4+2=9THhs, 0L E, 1FHMLI123FHETRLAH
RO Lo

3) LOBEROEDH L, Q)DXHITTOBROKE Ll ONIZ R L THRONS 12207, 9, - , XIZH
NS DD B 200 72721, XIF2)DEX L LETH S,

4) nIX123LTOHRKET L, Z0& X, 3"+1 5 O E L5 n 1T D 5 ho



